
MO TOR AND TRANS FORMER REWINDING
_moQ>a Am°a Q¥>mßg\$m∞_©a [admBßqS>J

( The ory )

(602/702)

Time : 1½  Hours ] [ Max i mum Marks : 30

g_` : 1½  K Q>o ] [ nyUm™H$ : 30

Note : At tempt all ques tions.

{ZX}e> Ö g^r ‡ÌZm| Ho$ CŒma X|ü&

PART–A

^mJ>–A

Note : (i) An swer the fol low ing ques tions in 30 to 40 words each.

{ZÂZ{b{IV ‡ÌZm| _| ‡À òH$ Ho$ CŒma 30 go 40 e„Xm| _| {bI|ü&

(ii) Each ques tion car ries 2 marks.

‡À òH$ ‡ÌZ Xmo AßH$ H$m h°ü&

1. Name the types of transformer as per core. Also state why core is laminated.

H$moa Ho$ AmYma na Q¥>mßg\$m∞_©a Ho$ ‡H$mam| H$mo Zm_mß{H$V H$a| VWm ~VmE± H$moa H$mo bo{_Zo{Q>S> ä`m| ~ZmVo h¢ü&

2. Describe the functions of conservator and breather in power transformer.

nmda Q¥>mßg\$m∞_©a _| H$›OadoQ>a Am°a ~´rXa Ho$ H$m`m] H$m dU©Z H$a|ü&

3. Write the procedure for rewinding a single-phase step-down center-tapped

transformer.

EH$ qgJb \o$µO ÒQ>on-S>mCZ g|Q>a-Q>°flS> Q¥>mßg\$m∞_©a H$mo [admBßS> H$aZo H$s {d{Y {bI|ü&

4. Distinguish between series-field winding and shunt-field winding of a DC machine.

EH$ S>r0 gr0 _erZ Ho$ grarµO-\$sÎS> dmBßqS>J VWm eßQ>-\$sÎS>  dmBß{S>ßJ _| A›Va ÒnÔ> H$a|ü&

Or/AWdm        

State Faraday’s law of elec tro mag netic in duc tion.

\°$amS>o Ho$ Bb°äQ¥>mo_°ΩZo{Q>H$ BßS>äeZ Ho$ {Z`_ H$mo {bI|ü&

5. Differentiate between lap and wave winding of a DC armature.

EH$ Sr>0 gr0 Am_}Ma H$s b°n VWm dod dmBßqS>J _| A›Va ÒnÔ> H$a|ü&
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6. Why is starter essential for starting induction motor? Name the different types of

starters used with AC motor.

B›S>äeZ _moQ>a H$mo ÒQ>mQ>© H$aZo Ho$ {bE ÒQ>mQ>©a ä`m| AmdÌ`H$ h°? {d{^fi ‡H$ma Ho$ E0gr0 _moQ>am| Ho$ ÒQ>mQ>©am| Ho$ Zm_ {bI|ü&

7. Calculate the electrical degree per slot for 3-phase motor of 48 slots, 8-pole motor.

Also indicate the no. of slots for taking out three starting leads.

EH$ 3-\o$µO, 48-Òbm∞Q>, 8-nmob _moQ>a H$s Bb°päQ¥>H$b {S>J´r/Òbm∞Q> H$s JUZm H$a| VWm `h ^r ~VmE± {H$ VrZ AmaÂ^ Ho$
{gam| Ho$ ~rM _| {H$VZo Òbm∞Q>m| H$m A›Va hmoJmü&

8. Summarize the procedure for impregnating the armature winding with varnish.

Am_}Ma dmBßqS>J H$mo dm{Z©e Ho$ gmW BÂ‡oæoQ> H$aZo H$s {d{Y H$m gßjon _| dU©Z H$a|ü&

9. Enumerate the purpose of using the following in single-phase capacitor motor :

(A) Two wind ings (B) Cen trif u gal switch

(C) Ca pac i tor

{ZÂZ{b{IV Ho$ EH$b-\o$µO H°$no{gQ>a _moQ>a _| ‡`moJ H$m C‘oÌ` {bI| :

(A) Xmo dmBßqS>J (B) go›Q¥>r‚ ỳJb pÒdM

(C) H°$no{gQ>a

10. Name the essential equipments and instruments required to be installed on a

switch-board for running a squirrel-cage induction motor of 10 HP. Sketch the

diagram.

EH$ 10 EM0 nr0 pÒπ$ab-Ho$O B›S>äeZ _moQ>a H$mo MbmZo hoVw pÒdM ~moS>© na bJmE OmZo dmbo AmdÌ`H$ _mnH$`ßÃm| VWm
CnH$aUm| Ho$ Zm_ {bI| VWm {MÃ ~ZmE±ü&

11. State the formula of pump efficiency and define hydraulic efficiency of pump.

nÂn H$s E\$s{e`o›gr H$m gyÃ {bI| VWm nÂn H$s hmBS¥>m∞{bH$ E\$s{e`o›gr H$s n[a^mfm {bI|ü&

12. What is priming in centrifugal pump? How is this done? Name the three methods.

go›Q¥>r‚ ỳJb nÂn _| ‡mBq_J ä`m h°? ‡mB{_ßJ {H$g ‡H$ma go H$aVo h¢ü? BgH$s VrZ {d{Y`moß Ho$ Zm_ {bI|ü&
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PART–B

^mJ>–~

Note : (i) Complete the fol low ing sen tences.

{ZÂZ{b{IV dmä`m| H$mo nyam H$a|ü&

(ii) Each ques tion car ries ½ mark.

‡À òH$ ‡ÌZ AmYo AßH$ H$m h°ü&

13. The main reason of deterioration of insulation is —— in transformer oil.

B›gwboeZ Iam~ hmoZo H$m _wª` H$maU Q¥>mßg\$m∞_©a Am∞`b _| —— h°ü&

14. The sleeve is used to insulate the winding ——.

dmBßqS>J Ho$ —— H$mo B›gwboQ> H$aZo Ho$ {bE Òbrd H$m ‡`moJ {H$`m OmVm h°ü&

15. The brushes of electric machine are made from ——.

Bb°päQ¥>H$ _erZ Ho$ ~´e —— go ~ZmE OmVo h¢ü&

16. In case of direct coupling of motor with pump —— should be used.

_moQ>a H$mo nÂn go grYm OmoãS>Zo Ho$ {bE —— H$m ‡`moJ H$aZm Mm{hEü&

17. The direction of rotation of repulsion motor can be changed by putting the carbon

brushes at —— from its original position.

O~ H$m~©Z ~´em| H$mo dmÒV{dH$ pÒW{V go —— na ~Xbm OmVm h°, Vmo [anÎeZ _moQ>a H$s Mmb ~Xb OmVr h°ü&

18. The earth electrode should not have resistance more than —— ohms.

AW© Bb°äQ¥>moS> H$s ao{OÒQ>¢g —— Amo˜ go A{YH$ Zht hmoZr Mm{hEü&
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PART–C

^mJ>–g

Note : (i) Write the ap pro pri ate al ter na tive.

ghr CŒma H$m MwZmd H$a|ü&

(ii) Each ques tion car ries ½ mark.

‡À òH$ ‡ÌZ AmYo AßH$ H$m h°ü&

19. The insulation between commutator segment is of

(A) fiber (B) Bakelite

(C) mica (D) asbestos

H$Â ỳQ>oQ>a goΩ_o›Q> Ho$ ~rM _| bJm B›gwboQ>a hmoVm h°

(A) \$mB~a H$m (B) ~°H$bmBQ> H$m

(C) _mBH$m H$m (D) EÒ~oÒQ>g H$m

20. The protective device used in the starter to protect the motor from excessive current

is

(A) no volt age re lease coil

(B) overload re lease coil

(C) contractors

(D) None of these

_moQ>a H$mo A{YH$ H$aßQ> go ~MmZo Ho$ {bE ÒQ>mQ>©a _| ‡`moJ hmoZo dmbm ~Mmd CnH$aU h°

(A) Zmo-dmoÎQ>oO [abrµO H$m∞̀ b

(B) Amoda-bmoS> [abrµO H$m∞̀ b

(C) H$m∞›Q¥>°äQ>g©

(D) Cnamo∫$ _| go H$moB© Zht

21. In a single-phase induction motor, starting winding is disconnected by

(A) in ter me di ate switch (B) tumbler switch

(C) cen trif u gal switch (D) DPIC main switch

EH$ qgJb-\o$µO B›S>äeZ _moQ>a _| ÒQ>m{Q>™J dmBßqS>J H$mo H$mQ>m OmVm h°

(A) B›Q>a_r{S>`oQ> pÒdM ¤mam (B) Q>Â~ba pÒdM ¤mam

(C) go›Q¥>r‚ ỳJb pÒdM ¤mam (D) S>r0 nr0 AmB0 gr0 _oZ pÒdM ¤mam
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22. Pump is —— machine.

(A) me chan i cal (B) electrical

(C) hy drau lic (D) thermal

nÂn EH$  —— _erZ h°

(A) _°Ho${ZH$b (B) Bb°päQ¥>H$b

(C) hmBS¥>m∞{bH$ (D) W_©b

23. The device through which current is given to DC armature winding is

(A) rocker (B) shaft

(C) commutator (D) pole

{H$g CnH$aU ¤mam S>r0 gr0 Am_}Ma H$mo H$aßQ> {X`m OmVm h°?

(A) am∞H$a (B) em‚Q>

(C) H$Â ỳQ>oQ>a (D) nmob

24. The power in a 3-phase Delta connection is

(A) 3 2V I Ph cos f (B) 3 2V IPh cos f

(C) 3 2 2V I cos f (D) None of these

3-\o$µO S>oÎQ>m H$ZoäeZ _| nmda hmoVr h°

(A) 3 2V I Ph cos f (B) 3 2V IPh cos f

(C) 3 2 2V I cos f (D) Cnamo∫$ _| go H$moB© Zht

H H H 
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